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1 Introduction

In RAN4#74bis meeting the test lists for further evaluations are listed in Table 1.
Table 1: Test Case Summary
	Test Case #
	TM
	Spec Ref
	MCS
	Cell IDs
	Antenna Config
	INR

	1
	TM2/2/2
	FDD: 8.2.1.2.5
TDD: 8.2.2.2.5
	[8,9]/rand/rand
	Colliding
	2x2
	High

	2
	TM2/9/9
	FDD: 8.2.1.2.6
TDD: 8.2.2.2.6
	[5,8]/rand/rand
	Non-colliding
	2x2
	Low

	3
	TM4/4/4
	FDD: 8.2.1.4.1D
TDD: 8.2.2.4.1D
	[8,9]/rand/rand
	Colliding
	2x2
	High

	4
	TM4/4/4
	FDD: 8.2.1.4.1E
TDD: 8.2.2.4.1E
	[5,8]/rand/rand
	Non-colliding
	2x2
	Low

	5
	TM9/9/9
	FDD: 8.3.1.1C
TDD: 8.3.2.1C
	[8,9]/rand/rand
	Non-colliding
	4x2
	High

	6
	TM9/OFF/OFF
	FDD: 8.3.1.1.D
TDD: 8.3.2.1.D
	14/OFF/OFF
	Non-colliding
	2x2
	High


In this contribution first alignment results for TDD are provides with proposals on open issues left for demodulation tests for TDD.
2 Simulation results
The simulation results use agreed random interference model with NC PDCCH load as 100%. Blind receiver of SLIC is used as NAICS receiver compared to baseline IRC receiver. CFI and time and frequency offsets are set according to agreements made in [1] and [2]. 6% Tx EVM is assumed for all tests.
2.1 Test 1
Figure 1~4 show absolute TP results for Test 1 with random interference model with blind SLIC and IRC receivers with MCS=8, 9 on SC under EPA5 and EVA5 on all cells without special subframe configured and with special subframe configured.
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Figure 1 TP results Test 1 with MCS=8, 9 with EPA5 on all cells with blind SLIC and IRC receivers without special subframe configured
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Figure 2 TP results Test 1 with MCS=8, 9 with EVA5 on all cells with blind SLIC and IRC receivers without special subframe configured
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Figure 3 TP results Test 1 with MCS=8, 9 with EPA5 on all cells with blind SLIC and IRC receivers with special subframe configured
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Figure 4 TP results Test 1 with MCS=8, 9 with EVA5 on all cells with blind SLIC and IRC receivers with special subframe configured
2.2 Test 2

Figure 5~6 show absolute TP results for Test 2 with random interference model with blind SLIC and IRC receivers with MCS=5, 8 on SC under EPA5 on all cells and non-overlapping CSI-RS configurations on 2 NCs without special subframe configured and with special subframe configured.
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Figure 5 TP results Test 2 with MCS=5, 8 with EPA5 on all cells with blind SLIC and IRC receivers without special subframe configured
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Figure 6 TP results Test 2 with MCS=5, 8 with EPA5 on all cells with blind SLIC and IRC receivers with special subframe configured

2.3 Test 3
Figure 7~10 show absolute TP results for Test 3 with random interference model with blind SLIC and IRC receivers with MCS=8, 9 on SC under EPA5 on all cells and EPA5/EVA5/EVA5 on each cell without special subframe configured and with special subframe configured.
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Figure 7 TP results Test 3 with MCS=8, 9 with EPA5 on all cells with blind SLIC and IRC receivers without special subframe configured
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Figure 8 TP results Test 3 with MCS=8, 9 with EPA5/EVA5/EVA5 with blind SLIC and IRC receivers without special subframe configured
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Figure 9 TP results Test 3 with MCS=8, 9 with EPA5 on all cells with blind SLIC and IRC receivers with special subframe configured
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Figure 10 TP results Test 3 with MCS=8, 9 with EPA5/EVA5/EVA5 with blind SLIC and IRC receivers with special subframe configured

2.4 Test 4

Figure 11~12 show absolute TP results for Test 2 with random interference model with blind SLIC and IRC receivers with MCS=5, 8 on SC under EPA5 on all cells without special subframe configured and with special subframe configured.
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Figure 11 TP results Test 4 with MCS=5, 8 with EPA5 on all cells with blind SLIC and IRC receivers without special subframe configured
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Figure 12 TP results Test 4 with MCS=5, 8 with EPA5 on all cells with blind SLIC and IRC receivers with special subframe configured

2.5 Test 5
Figure 13~16 show absolute TP results for Test 5 with random interference model with blind SLIC, CRS-IC receiver only without NAICS and IRC receiver with MCS=8, 9 on SC with non-overlapping and overlapping CSI-RS configurations without special subframe configured and with special subframe configured.
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Figure 13 TP results Test 5 with MCS=8, 9 with non-overlapping CSI-RS configuration with blind SLIC, CRS-IC and IRC receivers without special subframe configured
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Figure 14 TP results Test 5 with MCS=8, 9 with overlapping CSI-RS configuration with blind SLIC, CRS-IC and IRC receivers without special subframe configured
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Figure 15 TP results Test 5 with MCS=8, 9 with non-overlapping CSI-RS configuration with blind SLIC, CRS-IC and IRC receivers with special subframe configured
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Figure 16 TP results Test 5 with MCS=8, 9 with overlapping CSI-RS configuration with blind SLIC, CRS-IC and IRC receivers with special subframe configured
2.6 Test 6

Figure 17 shows absolute TP results for Test 6 with no PDSCH on NCs with blind SLIC, CRS-IC receiver only without NAICS and IRC receiver with MCS=14 on SC with no CSI-RS configured.
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Figure 17 TP results Test 6 with MCS=14 on SC and no PDSCH on NCs with no CSI-RS configured with blind SLIC, CRS-IC and IRC receivers wo/wo special subframe configured
3 Remaining issues 
3.1 Aligned to FDD test

In order to align the test configurations between FDD and TDD tests it’s preferred to follow all the test configurations from FDD tests as proposed in [3].

Proposal 1: Follow common test configurations of FDD tests in TDD tests e.g. MCS, channel model, NC PDCCH load, Test purpose, CSI-RS configuration, requirement baseline, fallback behavior for robustness tests, etc.

3.2 Special subframe

For special subframes it has been observed only for Test 1 as TM2/2/2 with special subframe configured compared to no special subframe configured and for all the other tests there is no obvious difference in terms of NAICS gain observed between without and with special subframe configured. So it’s preferred to configure special subframe as proposed except for Test 1.
Proposal 2: Configure special subframe in all NAICS TDD demodulation tests except Test 1.
4 Conclusion

This contribution provides simulation results for TDD tests with following proposals.
Proposal 1: Follow common test configurations of FDD tests in TDD tests e.g. MCS, channel model, NC PDCCH load, Test purpose, CSI-RS configuration, requirement baseline, fallback behavior for robustness tests, etc.
Proposal 2: Configure special subframe in all NAICS TDD demodulation tests except Test 1.
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